
June 2018

RTN400
CONTROLLER

RETROFIT

REPLACEMENT FOR SAFENET III
CONTROLLERS

ISF5/10
*DUAL TEMP

N/P 3060649_A



3023552-Control Display KDE 3023553-Cable Controller
3061379-PRE-PRGM-CONT ISF DUAL T

3025272-Plastic Spacer 1900677-Hex Head  5/16” Screw

3023554-Sensor NTC Green 3031571-Sensor NTC Orange3051437-LABEL-PRMTR ISF DUAL TEMP

3041994-HARNESS-RTN400 ISF

BL

0510526-SUPPORT-DISPLAY

INSTALLATION TOOL LIST
• Phillips-head screw driver
• Hex-head 5/16” screw driver
• Wire cutters
• Silicone sealant
• Cable ties

PARTS REQUIRED FOR RETROFIT



INSTALLATION TOOL LIST
• Phillips-head screw driver
• Hex-head 5/16” screw driver
• Wire cutters
• Silicone sealant
• Cable ties

The RTN400 is pre-programmed for this
application. However, we recommend verifying the
program by confirming the correct set-point. The
setpoint verification procedure is on pages 7 & 8.

1. Disconnect all power to the case !!!

2. Remove front grille.

3. Remove front bracket and Safe-Net III display.

Note: The Controller Display RTN400 will not  fit          
in the existing bracket. You must use the  
new support display provided.

4. Insert the controller display into the support display. 
Connect cable controller to control display.

Support Display

Cable Controller

Control Display



5. Replace black Safe-Net air sensor with green RTN sensor.

6. Replace yellow Safe-Net defrost sensor with orange RTN sensor.

Air Sensor
Old Sensor-Black
New Sensor-Green

Defrost Sensor
Old Sensor-Yellow
New Sensor-Orange

Note: The existing sensors are NOT compatible with the RTN400 and must be
replaced with the sensors provided in the retrofit kit.

DO NOT SPLICE SENSOR WIRES !!



7. Install Plastic Spacers onto Support Controller.

*Optional Procedure: Instead of
mounting the completed assembly,
consider mounting the base (with
spacers only) first. The board can
then be snapped onto the spacers.
This will prevent any damage to the
board caused by being hit with a drill
during the mounting procedure.

8. Secure Control RTN400 to Plastic Spacers  

9. Use the Hex Head 5/16” screw to secure the assembly inside the control box 



10. Remove Safe-Net III controller and harness wiring from control box
Note: Make sure to remove the controller’s harness wires from the terminal board.            

Terminal board 

Remove all wires  that are connected 
with old controller Safe-Net III

Remove existing 
controller safe-net III

Place the new bracket and RTN 
controller

Terminal board 

Use  the new harnesses  and sensors for 
connection of new controller 

Relay 



11. Install wires to controller and terminal board as shown below:             

3041994-HARNESS-RTN400 ISF

TO TERMINAL 
BOARD #2

TO TERMINAL 
BOARD #12

TO HEATER 
RELAY #1

TO COMPRESSOR 
RELAY #1

TO CONTROLLER
#1

TO CONTROLLER
#11

TO CONTROLLER
#5

TO CONTROLLER #3
TO CONTROLLER #4
TO CONTROLLER #7
TO CONTROLLER #10



12. Connect Sensors wires to controller as shown below:             

Sensor connections
Orange: #21 Black wire & #20 White wire
Green: #19 Black wire & #18 White wire

13. Verify black wire to terminal board 
#26 is connected to evap fan motor.

14. Disconnect this wire from terminal 
board #26 and connect again to 
RTN400 controller #9.        

RTN Connections Diagram (ISF)



The new controller is preprogrammed and should not require adjustments. You are now ready to start the 
unit and verify the set-points.
• Apply power to the unit (Fans should start immediately and compressor should start in a few seconds).
• Confirm the setpoint by following “Step 1”. For ISF dual temp is -33°F.
• Go to “Step 2” and verify the sensor probes are reading correctly.
• Proceed to page 9 to complete the start-up process.

1)

2)

To see parameters info please refer to document:

3051437-LABEL-PRMTR ISF DUAL TEMP





RTN-400 LED Indicator Lights





Wiring Diagram ISFGG5DG / ISFGG10DG


	Slide Number 1
	Slide Number 2
	Slide Number 3
	Slide Number 4
	Slide Number 5
	Slide Number 6
	Slide Number 7
	Slide Number 8
	Slide Number 9
	Slide Number 10
	Slide Number 11
	Slide Number 12
	Slide Number 13

